Industrial Economics N14100
Worksheet 2

1. Consider the following game:
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(i) Identify the possible strategies for each player & hence derive the normal (strategic) form of the game.

(ii) Find all of the NE.

(iii) Identify all of the sub-games.

(iv) Using backward induction, find the unique SPNE.  Which NE depends on a non-credible threat?

Homework questions (answers to these will be posted on Nexus early next week) 
2. Consider the following collusion game:

	
	Firm B

	
	Collude
	renege

	Firm A
	collude
	6, 6
	0, 10

	
	renege
	10, 0
	1, 1


(i) If this stage game is played twice, itemise the sub-games and identify the SPNE.

(ii) Find the smallest value of the discount factor for which ‘grim punishment’ strategies can support the cooperative outcome as a SPNE.

3. No help will be given for this one, but there will be a small prize for the 1st person from the class to email me the correct answers with a brief explanation.
Three pirates (A, B, C) are considering how to divide their treasure of 100 gold coins.  The job of suggesting how to split the loot falls to the eldest pirate (A).  Once a proposal has been made, all the pirates vote whether to accept or reject it.  If at least half of the pirates vote to accept, then the treasure is divided as proposed.  If more than half vote to reject, then the eldest pirate is killed and the task of deciding how to allocate the treasure passes to the next oldest (B).  The process carries on until at least half the pirates vote to accept a proposal.
(i) Identify the SPNE outcome to this game.

(ii) Identify the SPNE if there were originally 4 pirates (A, B, C and D) with D being the youngest.
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